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Questions

1. How many atoms of gold are found in 0.25 moles of gold?
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2. How many moles is in 4.5 x 10%* molecules of nitrogen gas?
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Determine the molar mass of the following. Show all working.
a. Ba(OH),
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4. Determine the mass in grams of each of the following showing all working
a. 3.15 mol of magnesium bromide (MgBr,)
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b. 12.9 mol of phosphoric acid
= 129 mol ‘
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B, Determine the number of moles of each of the following showing all working.
a. 364 grams of water (H,0)
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b. 4.29 grams of ethanoic acid
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The following two questions apply to the balanced equation for the combustion of
ethane below:
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2C,Hg + 70, > 4C0O, + 6H,0O

6. Calculate the number of moles of:
a. CO, produced for the number of moles of C,Hg consumed.
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b. O, reacted in relation to the number of moles of C,Hg reacted
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7. If 3.05 mol of ethane is combusted, use the balanced equation above to
calculate:
a. number of moles of water produced
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b. number of moles of carbon dioxide produced
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G number of moles of oxygen gas required to react completely with it
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